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Chi—square test, Multilevel logistic regression
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Variables

high % low
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QL (%)

Q2

Q3

Q4 (25)

48,144
54,863
65,409
49,964

179,274

39,106

64,736
66,523
87,121

48,671
49,443
50,580
69,686

22.0
25.1
30.0
22.9

82.1
17.9

29.6
30.5
39.9

22.3
22.6
23.2
31.9

33,698
41,670
54,646
42,185

139,448
32,751

45,938
52,703
73,558

35,052
37,231
41,148
58,768

Total

218,380

100.0

172,199

MODEL 3

Variables

95% CI

MA =
A5
Ql (%t+=)
Q2
Q3
Q4 (==

AG5E

BAEXAAR TR
Q1 (0.10-0.18) 1.00
Q2 (0.19-0.24) 1.08
Q3 (0.25-0.43) 1.30
Q4 (0.44-0.65) 1.47
T Yol Y +F
A= 0.97
= 1.00
o
Q1 (0-36) 1.06
Q2 (37-156) 1.02
Q3 (157-1,588) 1.00
AMARNE =
Q1 (0-20.6) 0.88
Q2 (20.6-27.0) 0.88
Q3 (27.0-35.3) 0.98
Q4 (35.3-74.3) 1.00

ICC (Intra-class correlation) 0.0251
RRAEE
-2 Res Log Likelihood
AIC

165797.10
165865.10

Null model: ICC=0.0635, 2L L=218242.9

p for interaction<0.0001
Adjusted OR
3.00
2.50
2.00
1.50

1.00
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Figure 1
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